YATET RATToTaRT (F) T Ut WeTe! et @e! =19 ol SRS derd | ! gcd =

1000kg/m3 TITe<d T, g = 9.8 m/s?) Find the pressure acting at the bottom
of the container in the given figure. (Density of water =1000 kg/m?® and
acceleration due to gravity.

Bhangaha Municipality
HATIRAT T8 TUET

Basic Level Examation

(a) 78400m (b) 78400N
T (class)-C (Eight) THE 40 (c) 7840pa (d) 78400pa Water 8m
for (subject) :- T3 (Science) HA:-3 °UET
(G) qART HEY FATTP A¥Ie® T $1 g1? Which of the Following objects are
He P (Group A) good conductors of heat?
E@élﬁ%q?l?1}{’5@‘@(Multiple choice question ) [10x1 =10] (@) BAH (Iron)  (b) T (Gold) (c) 14T (Silver)

(d) WIForBT | (All of them)

(H) IKW AT ..o, g | 1kw isequal to.....................

(a) 10000 Watt (b) 1000 watt (c) 100000 Watt
(d) 100 watt.

1. AR PAEEH] STACHT T élﬁl‘@’(O) SRl 3;-!'&; g | Gircle (o) the Currect answer

to the following question,
2. () TAHT WY IEIHT qieall 90T B 812 Which of these the first step of

Survey? () v TFadER A A TN IR T W | the
(2) T (objective) (c) ¥AIH (observation) instrument which is used to measure the angle of dip is called...........
(b) ATALAH ATHUAT (Material required)  (d) T (Conclusion) (a) W lRT ¥« (Dip circle) (b) g7 (poles)
(B) T AT AR H(a{eebT ATTE®ebT H& HIH qaIhT Hed H B g2 Which of (c) IFEETT AT (Angle of dip) ;
the foIIowjng_are the major function of means of information and d) T T (Angle of declination)
Communication technology? N
(2) T T I (Creating information) J) ?&Ti%amﬁwwr%w £ SRR &9 | The atomic weight of
(b)wwwﬁ (Storing information) ((:2I)0|u3r791 1Svwveesse (b)28 (¢) 40 d) 27
(© Wwﬁ (Transmitting in formation
(d) FT2aT & (Al of them) I @ (Group 'B') [8x1 = 8]
(C) AT WET HITHT T AT Wi FEHTT T2 Which of the following A BIST T JAEE (Very Short answer question)
components of cell synthesizes protein? 2. T gf*T 91 & 812 What is Search engine?
(a) ~FfFTE (Nucleus) (c) TSI (Ribosome) 3. ATP %I T &9 % &2 What is the full form of ATP?

(b) TR (Cell wall)  (q) ¥ATHHA (vacuoles) 4. FaRTHI THATE UHTe <T@erd | Write down the Stunit of acceleration.

(D) ATATALTPT GEEE T F- F g2 Which of the following are the 5. T AT el T gedhl i wiig=d, 76512 We wear white and light clothes in
aspects of environment?

summer, why?
a) Y& (Physical b) W3 (Biological ’
(@) o (Physical) () S (Biolog 6. LTS B UHTSHT ATU=5? What is the unit of cerrent?
(€)1 (Natural (@) 3 (All o them) 7 trz—aﬂﬁm;mrﬁﬁaﬂwi =g | The branch of Sci
. TRl ACTIT M TFATTATG e, v e branch of Science
(E) Wgﬁﬁﬁ]ﬁq&m ATAATS ..o A+g | The ripened ovary N

which deals with the Study of earth is called.

of a flowering plant is called................. .
9P 8 . AT G Fd 752 What is the valerey of Potassium?

(a)ﬁ?(Seed) (b) ATSTA (ovary) (c) Bl (Fruit) d) aFedraT (Cotyledon)



9. TEMS A ©THT TART TR TIET Aaah! A1H <I@e€ | Name a salt which
is used as a chemical fertilizer.

HHe T (Group 'C')
?ﬁ?ﬁ?ﬁr{ W‘I"ﬂ?@ (short answer question) [8x 2= 10]
10. ﬁwgmwﬁ@ﬁﬁ | Write down the major Steps of Survey:
11. =ATIATS HATISIEN ATEA(d =g e ST AT s qReidl Hivg, 2
Mushroom is called a saprophytic plant and bacteria are called parasites, why?

12, SESEIT = ﬁgﬁ@mﬁ@@'ﬂ | Write ang two methods of to control
population growth.

13. TEEEAT T UHEEA fereTiers 5+ g8 Freral S@a | Write any two differences

between monowt plant and dicot plant.

14, g fatgane wirefes qramEs T aitwT == afed sarean THa9 | Describe the
method of vegetative propa -gation through cutting with a neat diagram.

15. ReSUH! IAAHHT ALTT T ASeTs Frqeld T B Fhic AT ue ? ward
T@"ﬁl Strdy the given lever and Calculate the effort to balance the
load used in it.

L =500N F

/\ 3m

F

4m

16. feguaT faga aRae FeeEh! FETH AW THeR | Name the type of

commnation of cells shown in the given diagram.

M

—
17. @ﬁwﬁg‘éﬁrﬁqﬁmﬁé@@{ | Write any two characteristics of minerals.

THE ¥ (Group 'D) [4x4 = 10]
TATHT ITAL WW(Long answer question)
18. WhICTHYT HIGT TN T HISIHYT T AT =T 5@ TOHT <TG8™ | Write down

the stepwise process of doing photocopy using a photocopymachine.
19. (a) WIVT (o1 2 €12 B gL AT TANTHT Sqe®h] A8 G | What is light?

Name the any two soureces of light.

(b) EgUaT @I T T4 = #AeBicishT %+ g8 Hfdie® <@ | Complete the

given ray diagram and Write any two natures of the image formed.

f a%q (object)

>,

20. TS AMTHTHT ATIRHAT TAHT TAEEHEEH] IO @I | Answer the

following questions on the basis of the given table.

() dcag® A,C ID ﬁmﬁﬁ@7 What is the valency of the elements
A, C and D?
(b) A BT C ﬁﬂwgﬂaﬁ?ﬂﬁmwﬁ'@ﬁﬁ | Name the Compound
formed by the Combination of element B and C.
(c) dxa B ﬁﬂ'ﬂm REY, 2 The valenay of element B is 2 why?

dcdg e (Elements) gﬁi@ﬁmﬁw (Electronic configuration)
A 2,8,8,2

B 2,8,7

C 2,6

24, T AT BTV ATATLITHT T o g3 AUREE <T@l APl TS AT T 5%

SQI%@%@@'{I Write any two effects on environment due to acid rain and also write
any two measures of reducing acid rain.

Best of Luck




el A RATeTehT D. A% &= Wi e e .. 21 | The medicinal plants

Bhangaha Municipality which are found in terai region is ..
ATIRAT 8 T i) AT (Amla)
Basic Level Examation i) g—a (Harro)
T (class)-C (Eight) g 40 i) AT (Yarshagumba )
for (subject) :- T3 (Science) THY:-R Gl iv) AT ngf (Both)

12 { f2 { ;
THE-F (Group-A) E. T HET B NIl Afgell TAMHEE® IcdET g, | which of
the following parts produces female gametes .

E@W i) A (Ovary )

1. T T AE IAH el F&vg (0) TSR | ) e (Testes)

Circle (0) the correct answer the following questions: i) TraT(Anther)

A. TS AEwET Hid IHRHT T | How many types of iv)  fafeae (pistil)
scientific research are there ? F. Sda&®! w1 RgFa Jed P &l | Which of the following is
i) 2 the working principle of level .
”) 4 i) THRIC = A (Effort = Load )
::; ; ii) THhIC g‘& = A g‘&( Effort distance= load distance )

B. AT.M ﬁ‘i’{f ¥ F & | What is the full form of AT.M ii) THIC XTI g’&(Effort x load distance )
i) Automatic Teller Machine iv) e ENEINE = T ETHAT (Velocity ration = Efficiency )
i) Automated Teller Machine G. drEdtE® 34'@'% H& ..... g9 | Realimage is always ..........
iii) Automatic Teer Machine i) FE (Erect)
iv) Automated Teller Machinery i) T (Inverted)

C. WEHee A F?ﬁ | How are Viruses Transmitted ?
i) BT, 91 T QT HIETHae (Through, air and food )
i) qIqTehT ATETHTE ( By means of droplets )
iii) farfiee I (All of the above )

iv) =T @ ( All of the above ) H. SF8% Hid YHRHT 5787 | How many types of magnets are
there ?

i) g4 AT B (BothAandB)
iv) ;ﬁ = BreT (None of them)




o

L 0 N o

| The Chemical substances which take part in chemical reaction
are called .......

i) Icuifed IeTdET (Products)
ii) 9 FlﬁIWUT(Chemical equation)
iii) 9158 FHIEHT (Word equation)
iv) EISRERIEG I HRIG) (Reactant)
| AT FAgHT TART T | Limestone is used to make

i) qrediet (Pencils)

i) AT (Colours)

iii) f&@=a (Cement)

iv) F\iﬁﬁﬁ"( Lubricants)

THE-9 (Group-B)
é% Al IAUHP FF8% ( Very Short Answer Question)

AT T AR T WA & slslr‘-%\if%% | What is meant by information
and communication technology?

UHHITT Sdah! T a@@'ﬂ | Define Unicellular organism.
o9 Wl % B A Bid YHRHT 5757 | What is seed ?
RETHET B! & B ? AT Bl IHRHT §7g7 | What is Pollination

write its types also )

lamu T TR ?I'@ﬁ'ﬂ? Define lamu?
qTIeT GId q9aT & 81 ? What is the source of heat?
A WRI & BT ? What is speed?

SterepT fdeeT BaT arerar ERIERS) 9 ? The base o the wall of a dam
is made thicker Why?

gIal IdX AT YIHET ( Short answer question)

10. SIFEART BT T SHah e @J*f g’%@?ﬂ e a@'éﬁﬁl Write any two
differences between plants cell and animal cell .

11. 7o o w9 F 8 I9ars F90 SeT afeeg | What is
sustainable development ? How can is conserved?

12. UG T gédvﬂq ELEIEE @Jrf frzrar %RE@'H | Write any two
differences between dicotplant and monoct plants .

13. leSU®! faga aROIHT Aiaged! JST FH T@a™ | Name the type
of combination of cells shown in the given diagram .

M

o

14. 91 ST LGB 39-[ g‘%‘ YA ddeld | Write any two uses of
metallic minerals .

15, T FANTETAT 9l ¥ SXTE g 91 =1 o 12+ ? We should
not touch and test acids and bases in the laboratory , why )

16. TAVH] TRATT <IRT @éf g‘% S (Wel¥ | Define salt with any
two examples .

17. QAEATHT HET =TT Tdel™ | Write down the major steps of survey

He-¥ (Group-D)
Al AL AT TIE® (Long answer question)

18. AT T VR (Virtual Reality) 1 % =R ITANAEES Jeoi@
‘Iié ¥ | Write any four utilities of VR in Modern Era .



19. AT TeTde o= =9 P=dhg &8 I+l YOI e Proved that p
=dhg
B. U3C A F7AH! <l FU 20 cm T HIEGA 60 cm F WA T
ENEIN Hd g% |In asimple machine it the load distance in 20 cm
and effort distance is 60 cm calculate the velocity ratio .

20. A. YTTHT ATAGA GAHT BRI TG | HeobW UAT T o= UAT (ot

RIS S‘% hihee ngsm | Write the causes of refraction of light, Write
two differences between concave mirror and convex mirror.

B. fgust e Bm o TR T arglawr B4 ggeer fHevdee dwes

| %
a%q (object) \\
.

21. [XZUHT 958 FHIHTATS Folield gA FHIHH 8@ | Change the

given word equation into balanced chemical equation.

a) QIEIH +FARA - AT FAZS
Sodium + Chlorine - Sodium Cloride
b) TSI + HAGFENSH - 90

Hydrogen + Oxygen - Water




YATET TTRATeTeRT iv) @ @o | (All of the above )
Bhangaha Municipality ) F TEreg ad e et abeg e

ATIAT e qqen Cell membranes is called selectively permeable membrance because
Basic Level Examation

L SRR e A A

HET (class)-& (Eight) AT -%0 e all ecules £ o 4 outsid
R (subject) - TR (Science) A — allows molecules to go inside and outside
i) T BHITH AEAT HED TG |
THe-% (Group-A) It helps in the growth of the cell .
1. TAHT WAH! FE SACAT el &g (0 ) TSI | i) T ¥ WS T WEq 9 |
Circle the correct answer to the following questions:  10x 1 =10 ' It helps to store energy . .
%) ASNE ALTIT &7 G W=aT WiEer & A ? iv) AT FTETGE AR WEd !

It helps in intercellular transport .

) T ART b Bl ?

What does at first when do scientific study ?
i) T (Test)

i) ST ( Research) i) qRETEHIT AT UERAT | (The process of carrying pollen grain)
. .
i) 31‘°|Fﬁ'cb_rr(0bservation) ii) TR I TRl THEH YA qRar | ( The process of

transferring pollen grain to style )
iii) TRATH FeTAaTH Eljﬁ AT (The process of transferring
pollen grain to stigma)
iv) el TS T R TIHEah! Has @ ElER) ( The process
of the fusion of male gamete and female gamete )
) IHEEA AT GFEEHT BT HH el § ? Which order is correct
in the process of pollination .

iv) W(Experiment)
F) FFAFHT T TN FRT WA TqRET AT e qrrarars

............ a==g | The process of learning about the natural world
through observation and Experimentation is called ....

i) JANTCHSE T (Practical work)
i) ﬁ?ﬂ?(Science)

i)  ASE R ( Scientific learning) ) I N, RevHr, WRIH, W
iv)  FEE(Survey ) i) UER, GIHSU, [ECTHI, ATHA
) STEERE Al BT TR 36 g 2 i) ORI, TR, R, e
Why is Al used in business ? iv) THAAN, G, T8, TOH I
i) THA TIMFAWT T | (Transferring email) F) qAr R qETders amr T O e garders 3 Tver gF B

ii) fafere gaTaee QHE™ T wEd TS | (Helping resolve
billing issues)

iii) IHSEE AUSE T | (Updating records )

T o JIHLIATS JANT T g ? Which equipment is used to keep
hot liquids hot and cold liquids cold for several hours ?



i) arde (Bottle) 5. X% Saar aruen BfEE uger ST SEE™ | Write one
ii) I FeATEH (Thermos flask) utility of radiation of heat in our daily life.
i) ﬂﬁ&l?{(Thermometer) 6. T=AGT FHIC JANT & Eﬁ FIATS F lev\#%g ? What is process

effort is used in machine ?
7. FFA (Acid) 9T F T ? What is Acid ?
8. ¥ AW ( Acid rain) Tl % BT ? What is Acid rain ?
TEIFTI AGUTT HHhT & BT ? What is magnetic inclination ?
THe-T (Group-C)
glcl A Egsw | Give short answer.

iv) Er"ﬂ'l@'@"ﬂ?(( Calorimeter)

W) feguat wed WHlaw TFEE FT A ?
i) %fﬂ?f HFIP (Electromagnet)
iy e >
i)  TEHEA (Linestone)

iv) e @?(Lodestone)

N~ o o c
10. AT HhTg AR TRl THE et IJoold e | Write down
) AW (Argon) I IRAIES | Hid & ? How much the atomic , U , °
the major steps of scientific learning process .

11. 37eXTE YLEATRT 39-[ g‘%‘ SUIIEe <dal¥ | Write any two measure

weight of Argon ?

i) 46
i) 42 of internet security .
iii) a4 12.W?WW@§@WWT@HI
iv) 40 Write down any two difference between plant and animal cell.
) qTABT HEY P dFT I g | Which Sentence is correct in the 13, TIREH BT @éf g‘% FeEe el | Write down any two works of
following . plastid ?
) WA a1q S a1qeTe sHabl g il T Weal SHelEd B1g 14, e BT S gHRET §gH 2 TGE | How many kinds of

i) RO a1 S e SNl geg A AT WeRl dE@eR gy
|

i) TR a1 S ATgene Wl geg A a1 WeRT Bl g

iv) TR a1 S argene sm@l geg A a1 WeRT Hedell gag
|

¥He-9 (Group-B)

2. FGAIHT 9Bl & BT ? What is observation ?
3. e [T 99HT % B ? What is called binary fission?
4, élé’lil T R e & ﬁ ? What is double fertilization ?

15.

16.

17.

bio diversity ? Write down .
’ﬁrg% TST=l (A sexual reproduction) T ;ﬁ TR YR Iocld

T |
wer AR o1 T IR o1 Yol USar-user SuAr

@R@ﬁ'ﬂ | Write one utility of each no ferrous mineral and non

germs mineral .

T a1 THd Fhe TR Hell e T HAA o HAA A g
WEA GHEAET Ol Ui SfEag | A wEedr g

HIATS ;ﬁ ECESEIE @R@l@'ﬂ | There were problems in the tap water,
such as washing clothes not forming well and dirt not being removed




18.

19.

20.

21.

and hair becoming rough when washing it . Write any two measures
to solve this problem .

¥HE-¥ (Group-D)
I ST TR | 4x4=16
TIRT Hall T9 5o, safg ¥ Fl9e HFAey el TarasgH
UF-UF AT IEEI Aed ATHFA gRY &G TH@ | o o
AMETRREE geefioras! JANTT eTd @I ®1d 9gs 9UHT & 9l
TR TAERT T F T8 AT FaTHT W& TR |

Give an example of each of search engines, blogging and cloud
computing services and present your view about their popularity
among the users present your argument about the statement that the
use of artificial intelligence in search engines has made it easier for
searching work in two points .

At AT (Noise pollution) WATA ED 313!?1'83 ??gﬁw [T

Jeor@ T |
What is noise pollution ? Write down its causes, effects and ways of
reducing .
TTUHT AAHTH! ATIRHAT TAHT FIEEH! S [Ter | Answer
the following questions on the basis of the given table .
Mg Al @)
A B C
i) qcde® ABT CHl TIHT Hid Hd 57 ?
ii) e BX C T GANHAIE ool AlRTHaT A TFE | Name the
compound formed by the combination of elements B and C.
qcd BUIHAT 3 &7 |
The valency of the elements B is 3 Why .
(A) UTIIBT AEITA HSMAT el & Bl ? TURY HeaT WUH! I

qiieTH HEMe WarseT & g g ?Wgel | What is Temporary

hardness of water ? What happens When the sodium carbonate is
mixed in permanent hard water ?

(B) FET UMIT 1 g5 FGUdEE TFE |

Write two features of hard water.



YATET T aTferasT
Bhangaha Municipality
HATIRAT T8 TUET

Basic Level Examation

FET (class)-& (Eight) AT -%0
for (subject) :- T3 (Science) TqEA:-R TN

THe-h(Group-A)

E@W TaE%: (Multiple Choice Questions)

1. qAHT W H Gel SO A 3 I8 ST ol
Tick the correct answer of the following: 10 x 1=10

) B T T B gy seR Saren T WA IR dgEea e

.......... I==g | The Research which is used to explain why a
particular phenomenon occur is called ............
i) FUATCHE AT | (Descriptive Research )

i) FeamuT AqH-G1T | (Exploratory Research)

iii) A4 (Research)

iv) SYTEITICHP AU~ (explanatory Research)

Q) I WH W Slel WUERE,  SFaeqd ¥ Wendd I

FIATTATS e, ‘ﬂi'?lfa | The Technology that stores manages

and processed data to get information is known as ...............
i) Gkl it (Information Technology)

i) gater (Technology)

iii) I (Communication)

iv) AT (Information)

) qAwT e AT Fpwwr g B S Bl e By @ 2

Which of the following is the methods biodiversity conservation in a
National park ?

i) T T AT (In-situ conservation)

ii) TREIHT AT (Ex-situ conservation)

i) g4 (i) T (ii) Both (i) and (ii)

iv) @J-f EIERAES ( None of them)

) qABT HED Exl CELCA] 9= & ? Which of the following is the
Acceleration ?

. vV-U o\ U+V
ii) - ")T
U+a .\ UtV
iii) — iv) —
t t
F) IAddd ASATZURI |r3|fgi3cfl|5c ............ =g | The fixed point about

which a lever can rotate freely is called........

i) I H ( Fulcrum)

i) ¥AAE ( Lever)

iii) fert (Pulley)

iv) T (Screw)

=) TAFT Hed TrelvalloH® UcHaH HI HE FHF & ? Which of the
following is the function of Endoplasmic Reticulum ?

i) HTLT FaT Tlff (To perform photosynthesis)

ii) et St Fuiorar geanT Tlff ( To help in formation of golgi body)

iii) EaRI RS B E 1o O %F\;T | To take part in cellular

transportation.
iv) e G Tlff | To Synthesize protein.
) [REuH! FF qegas T RAHT g9 91 TSR |

Study the given figure and find out the density of liquid (g=10m/s?)

i) 900 g/m?3

ii) 900 kg/ m?3

iii) 900 pa

iv) 1800 kg/ m3

W) TART HeT ARICH  AFABT IUAIT FT FHT 8T ? Which of the
following are the uses of Nitric Acid ?




i SATSAT FANT T ( To use in a battery)

i) fgatore amrsH (To make Detergent)
iii) faehic® 9a1d FAeT (To make Explosives)
iv) QRIRIEER CEEE I ( To make chemical fertilizer)

) 9 [guasT weg ERECcR &l g ? Which one of the following
statements is correct ?
i) amr ¥ e g fder v 2 (The mixture of copper
and Tin is called Brass)
i) amr ¥ Sew &1 g #tg abeg 2 ( The mixture of copper
and Zinc is called Bronze)

i)  HTET T BAWD! HHUAE T WHTg ? (The mixture of

carbon)
iv) e grqHt T A< | (Rusting occurs in alloys)
o) fegHTaaE 5 9 YR @ Ay ?

Why is Bituminous called energy giving mineral ?
i) ar ‘JT:ljﬁ'HT qre g | Itis found in nature.
ii) IT GHAT T2+ | It is found in mines .
i) A I WH T WA Mg T @A gy |

It is used for getting energy and found in mines .

iv) W qET G | tis cheap.

¥HE-9 (Group-B)

BTy GIZl IAUHP T (Very short answer questions)

2. YTHTETT W91 % B ? What is Fertilization ?
3. AQ g ;ﬁ g% AAHEE %I'{slﬁ'{? | Write any two methods of

seed dispersal .

4. TREAATS ﬁw S Wideg | 7 ? Fission is called asexual

reproduction, Why ?

b

10.

11.

12.
13.

14.

15.

16.
17.

TeRTEAN T a@%ﬁ o wE ﬁ'@@'ﬁ | Difference between intra
sound and ultra sound .

Z R CIFNC I kS qeaeh] | mtgglﬂ | Write any two factors
affecting sound .

WS T GHALE o " ?1'(3@'{? | Difference between fuse and
M.C.B.

SANCTaw ARHETEEH! ATGA T@ad | Write down molecular
formula of calcium bicarbonate.

feAISIg® 3T T WANISH 30 A9 T FIM el THed

| Compare Paleozoic era and Mesozoic era in point .

THe-T (Group-C)

BT JANTTATHT FANTCASE 1 &1 UAH, =T T Ioal i S T
tﬁ,@ , 7% 2 We should wear aprons, glasses and gloves while

working in laboratory, why ?

AAMCHFT ATHI & ol ? TqH! Hecd a’@ﬁ'ﬁ | What is robotics ?
Write its importance .

ISP PT ;ﬁ g‘s’ﬁ'c."f fergrerar @R@@'ﬁ | Write any two features of ISP .
:QD%T*RRZIW e HTUEC el | Write the major functions of
nucleus .

=T3S (b ﬂ?ﬁqﬁﬁiﬁ FAEfd W7 ? Why is mushroom called a
saprophytic plan .

W T A A= _g‘vj*f EEINIED ﬁ'@%ﬁ'ﬂ | Write any two difference
between speed and velocity .

AR F g% AT AEA FHH F A e |

U wtaT BT A FOT A W I FreT @
WW@WWWW@ | If you are kept

blind folded in a room . How can you find out whether the room is
occupied or blank by producing sound ?

¥He-¥ (Group-D)




18. 9 <A, TACHYY, Had®H T TAC HI ITANCT @ BE | Write
down the application of you tube , whatsapp, facebook and twitter .

19, MIMEHT FHT G b WSTHT G99 WwaT Giel T q9 A&l AWl
TS BT AFeE B A greg ? BATAT €adimiabl a1 332 m/s T HHEA

A i eaap! qAAH T IJoAqH AEd AT 20Hz T 20KHZ ) |

What is the shortest and longest wave length of the sound which can
be heard by human ear ? The speed of sound in air is 332 m/s and
minimum and maximum frequency of the sound which can be heard
by human ear are 20Hz and 20KHz respectively .

20. TZUH! ANTHIHT ATARHAT TAHT FIHEEH S 912 | Answer
the following questions on the basis of the given table .
Mg Al o
A B C

i) qcde® ABT CHI TIHT Hid Hd 57 ?
ii) e BT C T YANHAIE ool AlRTHaT A TFE | Name the
compound formed by the combination of elements Band C.
iv)  dca BUTHA 3} EG |
The valency of the elements B is 3 Why .
21. (A) IR AR BT 9T & Bl ? T HeaT qUHT I
qIieTH HEMS HarssT & g g ?ge | What is Temporary

hardness of water ? What happens When the sodium carbonate is

mixed in permanent hard water ?
(B) ST UHIT 4 g5 FUAEe EeE |

Write two features of hard water .



YATET T aTferasT
Bhangaha Municipality
HATIRAT T8 TUET

Basic Level Examation

FET (class)-& (Eight) AT -%0
for (subject) :- T3 (Science) TqEA:-R TN
qHE &
q. TAHT THETH! Tel IACHT Al =g (0) TSI | 10x1=
10

(Circle the correct answer to the following)
. e T U A1 YPHATATE SAYdsh FaaaIE Ao T JERaTers

ED ﬂﬁ'ﬂ ? (The action or process of monitoring object with sense organ is

called ?
a) e (Test) b) IR I (Hypothesis) «c) IEEIEI (Desire) d)
HAAH (Observation)
@, ATM &I T 9 % 2 ? (What is the full form of ATM ? )
a) Atomatic teller machine b) Atomatted taller machine
b) Atomatic teller machinery d) Atomatied taller machinery.

M. AUHT fEET Hid Aiderd F9edid USid Geusl ge ? (What

percentage of plant spesic of the world is found in Nepal ?
a)l.1% b)10% €)3.2% d)0.1%

o, afEmr gy e TR awaE aow qMeg 2 (why s the
reproduction that occurs in amoeba called asexual reproduction?
A) T e Icared Tl?,% | ( It produce off spring)
B) U4 YA TAHCEE a%sr | (Gametes are not formed in this

process)

C) J4g YA TATHCES dvaggd | (Gametes are formed in this

process)

D) ar iR i@él T A g7 | (This process is simple and fast)

3. JAaEHl F HEd dadT HeY £l 72 (Which of the following is
the working principle of lever ).

a) THhId = Alg (Effort = Load)
b) 3‘1% d gﬁ =g gﬁ (Effort distance = Load distance)
c) THIEx T égf = g él@gfl (Effort x Effort distance = Load x Load

distance)
d) Tlﬁ?ﬂ_:lﬂ]_cf =g x Fﬁ%@;& (Effort x Effort distance = Load x load
distance)
9, qrEdes 31'@% H& wrrermnenenenen. £ Rl image is always ....... ?

a) TSI (Effort) b) STeaUaT (Invested)
b) T a&b(botha&b) d)F I BET (None of them)

. delhl HE HHlcld dEdet T P &1 ? Which of the following objects
are good conductor ?
¢) ST (Iron) b) T (Gold) ) T (Silver) d) WIHT & (All of the
above)
ST, b &id APNPT g7 ? How many types of magnet are there ?
a) 2 b)3 c)a d)5
. QISAADBT I oo B | The symbol of sodiumis ............
a) Si b) S c) Na d) Ne

. R feguat e fSaw an = o e ded, | Hiw! v

= 1000 kg/m? T Tecd YT =9 .8 m/s? (Find the pressure acting at the
bottom of container in the given figure) ( Density of water = 1000 kg/m? and
acceleration due to gravity = 9.8 m/s?)

a) 78,400 m b)78400N c) 7840 Pa d) 78400 Pa

qHe 9
afa GIcl IAL ATIT TF2® | Very short answer questions.
8x1=8

2.9 WHI & B What is cell?
3. 9= EEINK Ul el ATIRN <A &1 ? Who introduce five kindom

system ?
4. et 9 & @f ? What is the function of printer ?



5. U9 HHehT & Bl ? What is reproductipn
6. [eTUT FAAT TERUH! YT F THRH! o ?

- ~®
-\ o b
ad® 0 8y » e
‘\" t. ‘ y . ) _:
e e
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. \ - e L
b & .
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'
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7. RETEE AT & ?f ? What is pollination ?
8. MM WAl & Bl ?UF HI SITHS @@ | What is heat ? Write its S| unit .
9. J&lvs % % e T ! < | Whatis the universe made of ?

THE T 8x2=16
10. s ARSI WARTCAs %1 &7 AuHISHI B ge9Iel qadHee
e |

N

laboratory ?

11, SUTFCRAT B WELHHT ATHIET = a’ﬁi@'ﬁ | Draw a well- labelled

diagram of bacterio phage virus.
12. T T 9T % BT 2 JTATS B FRMST Al ? What is sustainable

development ? How can it be conserved ?

13. UHaRTT T EE?%RT forear o= @J*f 3‘5} Rz @R@lﬁ'{{ | Write is sustainable

development ? How can it be conserved ?

14, TEET Frafamom g9 9 9R T STEe W e | write

the names of any four electrical instruments which are used in domestic wring ?

15. @it ;ﬁ 3% SRR %RE@'H\ | Write any two uses of minerals.
16. 94 HAREE HAedbTdll él%ﬁiﬁ'{ T FebTell & g';[% ? All bases are not

alkalis but all alkalis are bases, why ?
17. M a7 Tl fhet TATCE {eT TeaT T FA@ ga7 IR g e THEAEE
gRIT I AT | B weear T i qurer aus 1 g8 Al

SU a’@%ﬁ'{ | There were problems in the tap water such as washing clothes not

foaming well and dirt not being removed the hair becoming rough when washing it
. write any two measures that you will use to solve this problem.

Write any two precautions while doing practical work in science

THE |
ATHT IR AT TIET (Long questions.)
18. [T3UHT FBAReH! AFUT T TAHT TAEeH! I [@de™@ | ( Study the

given figures and the following questions).

= e —
< - (B S5

fig( ii)
a) == (i) T (ii) T2UPRT IUB DT AH Tl | Name the device shown
in fig | and fig ii .

Fig (i)

b) B (i) / (i) =1 Frgust Susww B B g Freidree e | (write
any two difference between the devices shown in fig | & II .
o B /01 TusT SuEET IuAIRT e |

19. a)WﬁﬁT@'{ | (prove that)

S=ut+1/2 at2

b) AAE HIZET HIH! & Bl ? AGH! A AW | What is mechanical

advantage ? Write its formula.

20. det ?ﬁfﬁ@ THEGH] I a'iié"lﬂ\ | Answer the questions asked below.

y

a) T2 UH! A IARARAHH AR Tl AT TS [h0T @IEERT @S Ter

| Redraw the given digram in your answer sheet to show the formaction of image .

b)a'?l! a@ﬁaﬁ HTBI T FIT% wHedl g e ? Write the nature of image formed.
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21.a)W_{d“i|55ia%| w@;ﬁﬁﬁwé@ﬁﬂ | Write any two differences

between element and compound.)

b) WISIN FANES T MBI AHA @R | Write down the molecular

formula of sodium shloride and water .

HHH

YATET RITTeThT
Bhangaha Municipality

ATIRAT T8 TET
Basic Level Examation

HET (class)-G (Eight) TATE -%0
o (subject) :- T&=TT (Science) THA:-R T

“$ 13
9. QWVW :- (multiple choice question)
TAH! T=H! e SHT 6% (v )R8 Teq 21 | (Tick the corect
answer to the following.)

% . faiie yeliideT Sages! o= 1 ffeaar < ... 4==g ? (the variation

among the organism of diffrent species is called.)

o YSfTa fafarerar

o FUMRTT fafererer

o UIRREUfd® faferear
o TE g

@ . T qed T WqA A B 3@ a1 | (wich of the following is the
example of the first class leaver.)
a) oo T (wheel barrow ) b) A& (sabel ) c) T

(crowar ) d) F1 (broom)

T . IS BR Y m/s FI A T AREH g A IH el L sec g

eI srorea A1 AFY A (A T FA g ?
i )2 m/s ii ) -5 mls? ii

) 25 m/s iv ) 125 m/s?

. G e 91 ael [FusT B —p i e qEEer 9 g
(Which of the following heavenly body are included in the solar system?

T (sun ) Uege (asteroids)

o

Tey ART (comests )



T B A ﬁmﬁﬁéﬁﬂﬂwwﬁ'{?(swdythegiven

diagram calculator the value of effort?)

22 N 200N Load= 400N effort ?

400 N 1200 N TScm 3em

T . fausr wed Hlopi?lob RAEEZC ] 7?2 (Which of the following is natural
magnet?)
AW ¥ (Lime Stone )
%a  (Nickeel )
At wifeT T (All of Above )
g . aaHT geg £l AT 99 Arsc /T FANT g ? (Which of the following

mirror is used in search light?)

FH*Hy UAT (concave mirror ) HEY ﬁ-‘-IT( convex mirror )

FHAA 1Q:IT( plan mirror ) MATH 1i‘ﬁ( spherical mirror)
. TAHT HEY HF &1 of JoT Bl qd TS ? (Which of the following
point represent reproduction?)

A UAT ( process of birth )

%l e TRAT ( process of flowering )

e Ieded T ( process of producing of spring )

fag Seures = e ( process of producing seeds)
#. Be, Mg Y Ca fa=mr % Fa=g g 2 (What is the similarly among Be,
Mg, and Ca, elements?)

& &= arq g1 ( All are metal )

Kl aa1q g1 ( All are non —-metal )

T Qd?‘. qHEPT dcd g1 ( All are elements of the same group )

. Mgcly & AEE AR BT g7g? (What is the molecular weight of
Mgcl,?

i) 100 amu ii) 120 amu
iii) 94 amu iv) 110 amu

g @ (Lord stone )

6"@"9

. a:l‘ Eﬁﬁ SAUHS® TH8e ? (Very short answer question)

%) ARG WAHT & & 2 ( what s lairing )?
) FaardT 9HT & B 2 ( what is observation )?
) g T Wioaqer Thae i B U Feeral S@er 2(Write a difference

between binary fission and multiple fission?)

o) aﬁﬁ HT S| TS ?1’@—:@?? | (write down the S| unit of frequency )
T) FARTIICT | JART &9 7 USel Al I AW q@ded | ( write the name

of acid used in the laboratory)

=) 3% ST e 1 uF GEan <@de™ |( write a use of brass in daily
life )

) =1 AR & &l 2 ( what is motion ) ?

W) ffea T fUaqe &= ?é[ U e %1’@7\-@’5[ | write the difference between

steel and brass )

‘q‘l’”

3. @?ﬁ SAYCHE 8% ? (Short answer question)

%) WARTcH® w7 BT B a5 | F g8 BR @ | (Why s
practical work important in science . Give any to rezones.)

g) AN TAT T F1 g8 BEEEE qGe™ | (Write any two advantage
of social media.)

) =AS @S BT HAdsiar aueard 9 =g | (Why is Mushroom called a
saprophytic plant.)

o) WEegars aia ¥ Fia awg e IEeE aRauEt g o1 (Viruses are
placed at the interface between living and non-living things)

T) FHYFF THT 4 T8 BEAEe e | (Write any two

advantages of asexual reproduction.)

) YA S9ge Ild AP 35 HRUEE «@e@ | (Write down the to

cause of evaluation of life on the earth.)

W) =AU {EEar WAl & e ? IAE Wed ERE | (what is
meant by genetic diversity? Write with example.)




HHE-8(Group-D)

4. AT IAAHEF WAET (Long Answer Question) i) TcaE® BT C hI A=A ahid bl g |
@, TARTHT BT We=r T @D g5 [A0dee <@erd | Identify the given e -
figure and write any two charactries of each . . e . .-

@ T Ry R G o W oaw awdt #ogE der B e The End

| Complete the given ray Diagrams and write two character of the image .

| Lo,

. FFID HI AES RIGTed H1 ATIHAT HRIT ﬁ":@'ﬂ | Give reasons on the basis

of molecular theory of magnetic .

i) TFABeT el IS TS AU T A8 H1S ©1g ATHTT 47 | A magnet can
a Hraction nails but not wooden .

ii) U32T S TAHED S TS [ShIgaT gl %\I}Tslﬁc_q ot B0 g9 | Magnetic
streenth of a bar magnet because on hammering .

Y, fGusr FA®r AraREr ads! WHRl SO dgel™ | Answer the following question
on the basis of the given figure .

i) dcdg® ABT CH A %I'G\@lﬁ'ﬁ | (Name the elements of A,B and C)




